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fort=1to 7T do
Forward pass for the forward hidden layer, storing activations at each
timestep

fort =T to 1 do
Forward pass for the backward hidden layer, storing activations at each
timestep

for all £, in any order do
Forward pass for the output layer. using the stored activations from both
hidden layers
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for all ¢, in any order do
Backward pass for the output layer. storing 0 terms at each timestep
fort=Tto 1 do
BPTT backward pass for the forward hidden layer. using the stored o
terms from the output layer
fort=1to 1 do
BPTT backward pass for the backward hidden layer, using the stored o
terms from the output layer
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